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Rk 30 4F 17.4 37.8 -2.8 68 2 153.5 3.6 29. SSW 2 362.
AF It 4E 17.5 35. 6 -2.4 67 2 143.0 3.5 12. WNW 2 246.
2 17.5 41.1 -0.3 69 2 244.5 3.5 13. SSW 2 317.
3 17.4 36. 6 -3.5 68 2 330.0 3.6 14. SSW 2 327.
4 17.2 37.5 -1.7 70 2 392.5 3.5 12. SSE 2 345.
SF441 A 5.6 15.1 -1.7 55 27.0 4.2 11. wnw 219.
2 5.7 15.9 -0.5 58 39.0 4.4 12. wnw 215.
3 12.2 23.6 2.5 59 145.5 3.9 12. wnw 228.
4 16. 7 27.1 6.5 74 222.0 3.4 9. ssw 173.
5 19.4 30.5 8.5 70 294. 5 3.2 12. sse 202.
6 23.1 35.5 14.6 80 122.5 3.3 12. ene 189.
7 26. 7 34. 1 21.9 85 721.0 2.8 9. sw 192.
8 28. 2 37.5 21.9 81 157.5 3.1 11. ne 182.
9 25.9 32.8 19.3 79 458.5 3.2 11. s 156.
10 19. 2 29. 6 7.0 70 47.0 2.6 8. wnw 167.
11 16. 0 24.5 6.9 66 125.5 3.1 10. ssw 192.
12 8.0 18.4 -1.7 59 32.5 4.5 11. W 223.
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